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Numbers to 50- Write the
number that is one more
than each given
number. Then write the
number thatis 10 less
and 10 more than each

given number.

6 are green and the rest
are

blue. How many
balloons are blue?

2. Sam ate 7 cookies
and Jane ate 2 cookies.
How

many more cookies did

Hector serves ice cream at a
local ice cream shop. He
sells 19 ice cream cones on
Saturday, 27 ice cream cones
on Sunday, and 153 ice
cream cones for the entire
week. How many ice cream
cones did Hector sell on the
weekdays? Show your work

lawns and $11 per hour for
pulling weeds. In September she
mowed lawns for 63 hours and
pulled weeds for 9 hours. How
much money did she earn in
September? Show your work!

Harvey wants to buy a gift for
his father that costs $35.92 and a

RALLY Page 55
Mac’s Market receives an
order of produce. In 8 of the
boxes, there are 13 pounds of
leftuce and 4 pounds of
cabbage. In 5 of the boxes,
there are 22 pounds of
bananas. What is the TOTAL

24 é """" 1 LeSS Sam eat than Jane? and label your answer. gift for his sister that costs $ number of pOUndS of prOduce?
----> | More ‘;’E%ll‘llfw TEHerPEROBLEM $52.08. WORK THE PROBLEM-SHOW
Y Y 10 less He has saved $16.28. How much | WORK
_____ > 10 More STEPS/STRATEGIES more does he need to save in
order to buy the gifts?
Telling Time- ;"é{l‘l":‘}iflm?lﬁfslggggss_ Applying 1 Akiko has 27 marbles. Sara . Applying Multiplication-
Bridges in Math- | pacE 23 Multiplication-STAMs | hias 58 marbles. Sam has 24 STAMS page 51
d th b marbles. How many marbles -
Page 33 Jun counted the number page 51 do Sara and Sam have in all? Problem: Bamboo is one of the

The violin lesson
began at 1:00 and
lasted half an hour.
What time did the
lesson end? The
singing lesson began at
12:00 and lasted half an
hour. What time did the
lesson end?

of video games he has
played. The number he
counted lies between 18
and 26 and is a multiple of
both 4 and 6. How many
video games has Jun
played?

WORK THE PROBLEM. SHOW
ALL WORK

Problem: Bamboo is one
of the fastest-growing
plants in the world. It
can grow 34 inches in a
day. How many inches
will it grow in 2 weeks?

Sara and Sam have
marbles in all.

2 Jenny has 12 toy people.
She is building a house for
them. She used 12 blocks
for the front gate, and 48
blocks for the rest of the
house. How many blocks

fastest-growing plants in the
world. It can grow 36 inches in
a day. How many inches will it
grow in 2 weeks?




did Jenny use in all?

Resource Room Math
Skills
Bridges to Mathematics-
Page 17
There were 18 birds in the
large oak tree outside
Pablo’s house. Suddenly é
birds flew away. How many
birds stayed in the race?
Pablo saw 11 ducks swim
by the edge of the pond.
Soon 7 of the ducks swam
away. How many ducks
remained by the edge of
the pond?
SHOW ALL WORK IN
YOUR NOTEBOOK

There are 4,064 calories
in 8 pints of strawberry
ice cream. How many
calories are there in
each pint of strawberry
ice cream.

What steps do you take to
solve this problem?

A factory filled 9,342
bottles in 3 hours. The
same number of bottles
were filled each hour.
How many bottles were
filed each hour?
How will you solve

this problem?

Jun read that the wind
speed during a hurricane
last year was between 79

and 101 miles per hour
and was a multiple of both

5 and 6. What was the

wind speed?
WORK THE PROBLEM. SHOW
ALL WORK

There are 4,064 calories in 8
pints of strawberry ice
cream. How many calories
are there in each pint of
strawberry ice cream.
What steps do you take to
solve this problem?

A factory filled 9,342 bofttles
in 3 hours. The same number
of bofttles were filled each
hour. How many bottles were
filled each hour? How will
you solve this problem?

Rally! Page 14- Multi-Step
A tour boat makes 3 trips each
day. It carries 124 passengers
on each trip. Which
expressions can be used to
find the total number of
passengers the boat carries
each day. 124 +3
(124 + 124) (124 x 124 x 124),
(124 + 124+124)

. Bridges in
Mathematics- Page 34
1. Jane has 9 balloons.
6 are green and the rest
are
blue. How many
balloons are blue?
2. Sam ate 7 cookies
and Jane ate 2 cookies.
How
many more cookies did
Sam eat than Jane?







